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QUESTION 1

Which three host encapsulations does ACI fabric support? (Choose three.) 

A. VLAN/802.1q 

B. VXLAN/VNID 

C. Stateless Transport Tunneling Protocol for network virtualization 

D. vPC 

E. FabricPath 

F. Geneve 

Correct Answer: ABD 

 

QUESTION 2

Which overlay protocol does Cisco AVS for vSphere use to allow the ACI fabric to extend over an existing network
infrastructure? 

A. GRE 

B. IPsec 

C. NVGRE 

D. VXLAN 

E. OTV 

Correct Answer: D 

 

QUESTION 3

Which three statements about the group policy model within ACI are true? (Choose three.) 

A. It is an abstracted view of application requirements. 

B. Policy is portable. 

C. Policy is based on the IP addresses of application services. 

D. Policy is extensible. 

E. Policy maintains flow information. 

F. Policy is enforced from the Cisco APIC. 
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G. Policy follows the blacklist model. 

Correct Answer: ABD 

 

QUESTION 4

Which three options are the major components of the ACI fabric? (Choose three.) 

A. bidirectional optics 

B. Application Policy Infrastructure Controller 

C. spine switches 

D. directory service nodes 

E. leaf switches 

F. Layer 4 to Layer 7 service devices 

Correct Answer: BCE 

 

QUESTION 5

Which two options are benefits of the ACI fabric beyond forwarding traffic from physical and virtual servers? (Choose
two.) 

A. zero-touch provisioning of fabric switches 

B. centralized control plane 

C. decoupling of underlay and overlay 

D. applying policy independently of forwarding 

E. increased performance due to full-mesh topology 

Correct Answer: AD 
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